Ch 5 KEY REVIEW

True-False Questions

_____1.
Understanding how processes work is essential to ensuring the competitiveness of a company.

_____2.
A process takes outputs and transforms them into inputs.

_____3.
The outputs of many processes are services.

_____4.
The cycle time of a repetitive process is the average time between completions of successive units.

_____5.
Utilization is the ratio of the time that a resource is actually activated relative to the time the machine is down for repairs.

_____6.
The speed of a process can have a major impact on a company’s revenue. 

_____7.
Single-stage processes must have buffers.  

_____8.
Blocking occurs when the activities in a stage must stop because there is no work.  

_____9.
A bottleneck limits the capacity of a process.

_____10.
A make-to-order process is activated only in response to an actual order.

Multiple-Choice Questions

_____
11.
A process consists of all the following except:



A.
Inputs

            B.        Outputs



C.
Transformations



D.
All of the above

_____12.
The  ______________ is the ratio of the time that a resource is actually activated relative to the time that it is available for use.



A.
Efficiency



B.
Throughput ratio



C.
Utilization



D.
Bottleneck



E.
All of the above

_____13.
An area between stages where output is stored prior to its use in a downstream stage is called:



A.
Buffer 



B.
Batch



C.
Blocking



D.
Bottleneck

_____14.
A _______________ process ends when the inventory of finished goods has been completed.  Customer orders are then served from this inventory.



A.
Make-to-design



B.
Make-to-stock



C.
Make-to-order



D.
Hybrid



E.
Flowchart

_____15.
A machine is designed to produce units at a rate of 30 per minute or one unit every two seconds.  The setup time to configure the machine is 30 minutes.  What is the operation time to make a batch of 10,000 units?



A.
363.33 minutes

B.
300,000 minutes

C.
600 minutes

D.
21,800 minutes



E.
None of the above

_____ 16.
Which of the following is an example of a steady rate assembly line?

A. 120 units entering a system and 90 units exiting

B. 150 units entering a system and 120 units exiting

C. 120 units entering a system and 120 units exiting

D. None of the above

E. All of the above
_____ 17.  
A production process is often depicted as a funnel.  If liquid is poured into the funnel at a rate greater than it can exit:

A. The level in the funnel will continue to grow

B. The time it takes the liquid to flow through the funnel increases

C. The liquid could spill over the top and never flow through


D. All of the above are true

_____ 18.  
An advantage of a touch-screen self-order kiosk in a fast food restaurant is:

A. It requires company assistance to place customer orders

B. Flexibility improves

C. Speed decreases

D. Accuracy decreases

E. Convenience decreases

_____ 19.
The time required to produce a batch of parts is called:



A.     
Set-up time



B.     
Operation time



C.     
Run time 

D.     
Throughput time

_____ 20.
If all activities included in a production process are value-added activities, which of the following is true?

A. The value added time is the sum of the all the activity operation times in the process.

B. Units are worked on less than 100 percent of the time as they move through a process.

C. Buffers are needed in the process.

D. Process velocity is always greater than 1.

E. None of the above is true.
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